Rajasthali Law Institute

Prelims test series
IPC PAPER-9
(Section 463-511)

1)'A' signs his own name to a bill of exchange, intending that
it may be believed that the bill was drawn by another person
of the same name 'A' commits ?

(a) cheating

(b) attempt of cheating

(c) attempt of forgery

(d) forgery

1) ' RITFHT & 96l T 39 AT W gEAER LT &, 58 30 & &
g HATAT T Toh foh forel 3T o113 o Rl 31w S garT IR
Teram aram 2, T gfdecy § 2

(a) Sel

(b) Sl ol ol

(C) FHeT=T hl Tce

(d) FeaeT

2)To sit at an examination, falsely personating another and
signing papers in that other's name, amounts to?

(a) cheating as well as forgery

(b) forgery only

(c) cheating only

(d) cheating by personation as well as forgery
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2)Teh¥Y 31 TTFd Y el TgTeT Gehl IRNET  doaT IR GE &
TH IR RTSITT 9 §EATETT YT, STeh 3deTd AT & ?

(a) T & ATY-ATY FHeasTr i

(b) Shael FHel

(c) haol Sl

(d) STV caRT el AT &1 FHcdeT Y

3)By Which Act of 2000, some sections relating to forgery
under the IPC, were amended?

(a) The Information Technology Act

(b) The Cr.P.C. (Amendment) Act

(c) The Trade Mark Act

(d) The Indian Evidence (Amendment) Act

3)2000 & fer & TRATHIA GaRT TS & d6d Hhedell § Fefeid
S RT3 H FAET fhar T a1?

(a ) TR Fenfareht rfRfags

(b )zﬁsmd’rﬁr GRICEIRICIGRE]

(c) ¢8 AT JfafaTe

(d) HRCIT T8y (FeereT) fafags

4)In which of the following Provision of the Indian Penal
Code ‘forgery’ is defined?

(a) Section 460

(b) Section 461

(c) Section 462

(d) Section 463
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4)ARY &3 AigT & e lld # & fondl ITaennsl H sHheeir
qRHAT faa a1 §2

(a) &IRT 460

(b) &IRT 461

(c) TR 462

(d) €T 463

5)'A' having lost the receipt for debt which he has paid to 'B’
makes out another receipt himself and when 'B' sues him
puts up the made-up receipt in evidence. In this case-

(a) 'A' is guilty of the offence of forgery

(b) 'A' is guilty of no offence

(c) 'A' is guilty of cheating 'B'

(d) None of the above answers is correct

5) T & "SiI" I HITCATST fehT TV 0T T THIG W & & 3N Ge Teb 3R
I@aﬁm%ﬁ?aﬁé’rmWH*qm ch{dl%’aTa'&TaFﬁE'é
IHIC &l 18T o &9 H YT FIdT & | 39 HH H-

(@) T HETAT & IO I &I §

(b) "T TSAT RET 3TIRTET FT EINT &

)T 'S P ST ST FTNT &

(d) 3TRNFd 3R H J ls o T 8T g

6)The offence of forgery is committed as regards to ?
(a) Government currency notes

(b) Government currency notes and documents

(c) Documents or electronic record

(d) Artistic work

6) eI T ITONTE fohd Farer & foharm 12T g2
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(a) TYRRT HT Al
(b)wﬂﬂaaﬁtsﬂtmﬁa
(c)aﬁﬁamsawﬁaﬁaﬂ's"
(d)

d) ShollcHh I

7)A prepares a marksheet with an intention to use it as
original to secure a job. Under IPC, he is said to have
committed offence of-

(a) forgery

(b) cheating

(c) mischief

(d) none of the above.

7)T Sl FITETT et o ToIT S Fel o T H 3TATT el & 5406
W%&ﬂ?éﬂﬂm%lmﬂ’r*dsd &gl ST & o 397
3TORTeT TR -

8). In his will, Mr. Y wrote: "l intend my property to be equally
divided between my three children A, S and H." A
dishonestly scratched out the name of H, intending that it
may be believed that the whole of the property was left to be
divided between H and himself alone. A is guilty of

(a) Cheating

(b) Forgery

(c) Misappropriation

(d) Theft
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8). 39air 8T H, A ‘a8’ o for@r: "H argdr g b & gufa &
diel STl U, T 3R v & & §d - 9 9 o g T
SSHTT § T FT ATH 39 XS, H FIe AT Tk Ig ATAT 317 o b TRY
T T IR g TN e F AU s s i vadr g

(a) Bl

b) =T

(b) %
(c) glafararr

(d) A

9)Principle: Whoever attempts to commit an offence and in
such an attempt does any act towards the commission of the
offence shall be punished.

Factual Situation: A, a trustee makes an attempt to steal
some jewels by breaking open a box belonging to the Trust B
and finds after opening the box, that there

is no jewel in it. A is prosecuted for the offence of attempting
to commit theft.

(a) A is liable for the offence of attempt to commit theft.

(b) A is not liable for attempting to commit theft as there was no
jewel in the box which could have been stolen by A.

(c) Ais not liable as Trust B did not lose anything.

(d) A is liable as he has done an act which is morally wrong.
9)TACYTd: ST IS T ITURTET heT T T ARl g AR TH Tced H
39T et T &R F IS H1 HIaT § 39 S fomar Fruar|
d2ITcH EUTA: T, Teh TEET S Il dIShT S ITged Il hT T3
m%ﬁ@rﬁmw%ﬁw@aﬁ%mw%ﬁssﬂﬁﬁé
IEAT o161 8. T O TRY I T Fced il o ITORTY & folv Hehe AT
TATIT ST &1

(a) T I T & TceT & 39U & foIT IR §



https://hindi.lawrato.com/%E0%A4%87%E0%A4%82%E0%A4%A1%E0%A4%BF%E0%A4%AF%E0%A4%A8-%E0%A4%95%E0%A4%BE%E0%A4%A8%E0%A5%82%E0%A4%A8/%E0%A4%86%E0%A4%88%E0%A4%AA%E0%A5%80%E0%A4%B8%E0%A5%80/%E0%A4%A7%E0%A4%BE%E0%A4%B0%E0%A4%BE-415#:~:text=%E0%A4%AD%E0%A4%BE%E0%A4%B0%E0%A4%A4%E0%A5%80%E0%A4%AF%20%E0%A4%A6%E0%A4%82%E0%A4%A1%20%E0%A4%B8%E0%A4%82%E0%A4%B9%E0%A4%BF%E0%A4%A4%E0%A4%BE%20%E0%A4%95%E0%A5%80%20%E0%A4%A7%E0%A4%BE%E0%A4%B0%E0%A4%BE,%E0%A4%A7%E0%A5%8B%E0%A4%96%E0%A4%BE%20%E0%A4%A6%E0%A4%BF%E0%A4%AF%E0%A4%BE%20%E0%A4%97%E0%A4%AF%E0%A4%BE%20%E0%A4%B9%E0%A5%88%2C%20%E0%A4%89%E0%A4%A4%E0%A5%8D%E0%A4%AA%E0%A5%8D%E0%A4%B0%E0%A5%87%E0%A4%B0%E0%A4%BF%E0%A4%A4

(b) T AR el o YceT o oI 3aRer 18T § Fifes sierq & g
g1 oT61 AT {8 T E@RT TRIAT ST HehelT AT

(c )Umaﬁﬁmm?ﬁﬁmaﬂaﬁ@m%l

(d )Umﬁmmﬁﬁwmm%ﬁmw T ITeId gl

10)For which offence the last section of the IPC makes
provision for punishment?

(a) Abetment to commit an offence

(b) Attempt to commit an offence

(c) Planning to commit an offence

(d) Preparation to commit an offence

10)FTSUIHT ehT TTREET URT fohd 3R o FoIT FSIT 7 ATaTeT il
g7

(a) 3TORTET aﬂﬁa:ﬁ»rtrgww

(b) 3TURTE A T GTcod

() 3TURT et hl GloTell Tl

(d) 3T9RTET aet T IRT

11)Section 511 of IPC does not apply in case of attempt of:-

(a) theft

(b) affray

(c) riot
)

(d) murder

11)3MSHRE T 4T 511 AFATATET & Teet & ATHSA H o] 761
gl &:-

(a) AR
(b) gam
(c)

C



(d) gcar

12)Assertion (A): There is no liability for an attempt to
commit an impossible theft. Reason (R): No criminal liability
can be incurred under Section 511 of the Indian Penal Code
for an attempt to do an act which, if done, will not be an
offence.

Codes:

(a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true but R is not a correct explanation of A
(c) Ais true but R is false

(d) Ais false but R is true

12) STaT (T): 379379 ART Hed oh Tl o [oIT PIS GlfAcd oTel ¢ |
HRUT (31R): HARAIT &8 AledT T &TRT 511 & dgd [T i ol hial
& Tcel & TIT IS RIS 1A oTeT 31T T JohdT &, St A
TR SITaT §, AT 3TORTeT AT g1 |

HIs:

(a) T 3R 3R Gl T g 3R 3R, T hl Hel TISCIhIOT g

(b) T 31 3R 1T T § SifeheT 3TR, T 7 Her TISE 10T gl &

(c) T T g olfchel 3R el ¢

(d) T el g offehed 3R T &

13)Section 511 of IPC is not applicable to?
(a) attempt to commit suicide

(b) attempt to commit rape

(c) attempt to hurt

(d) attempt to theft

13)3TS T hr &RT 511 W3] LT BIeil?

(a) TcHBAT et T Tcod




(b) TATCHIT et T Yo
OEEEGRREIGEIR RG]
(

d) DY T G

14)Which one of the following statements is not correct with
regard to the nature of criminal attempt?

(a) Criminal attempt is the direct movement towards the
Commission of the offence after the preparations are made

(b) Criminal attempt is an intentional preparatory action which fails
in object

(c) An act which is done intentionally in attempting the
commission of an offence

(d) When commission of an act done intentionally is successful, it
is criminal attempt

14)3TRITR Tt T Tehid & FaeT 7 foie=iieliad # § el AT
$HUeT Tl oTal 672

() 3TIRTTAS TIceT AR & §TE ITITE et T fe2rm H Wem Fea &
(b) TR Yot Ueh SATASTRT I IS TR A HRaTs & it
3¢c2T # fa%el g STl &

(C) Weh & ST SATeAsSTenT 3TURT &hist o Scel H fohdT SITell &

(d) ST STTeTgETehT TehdT 31T shis HRT Al gl Silcll &, dl T8
RIS Yo &

15)Y inserts his hand into the pocket of Z but the pocket was
empty. Y guilty of:

(a) no offence as the offence was not

completed

(b) theft

(c) mischief



(d) attempt to theft

15)Y & 3791 T2 Z T ST 7 37T oifoheT S @relr 27| Y Y &
a) IS ITRTEN €T Sl foh 3TARTEN IRT €T G377 AT

(c) TRY FT Yol

16). A bull which is dedicated to an old idol in a temple is
caught by 'B' and put to work in his garden. 'B' is:

(a) Guilty of mischief

(b) Guilty of extortion

(c) Guilty of attempt to commit theft

(d) Guilty of theft

16). Teh siel Sif Teh HfCY # Teh YI=AT Hfcl ol AT &, ‘o' SaRT
mﬁmm%ﬁtﬁmmﬂmwwﬁmm%l Gl

17)X, applied for the post of Lecturer in Delhi University and
submitted his

application along with degree, of Ph.D.Interview call was
issued to X and 2nd February, 1992 was the date fixed for the
interview of X. But on 10th Jan.,1992 the University came to
know thatthe copy of degree attached with the

application was bogus and cancelled the interview.



a) X is guilty of cheating.

b) X is guilty of attempt to cheat.

(c) X is not guilty of cheating because the University has not been
cheated.

(d) None of the above.

(
(

17)0d, A fSeel faeafacarery A caredrdr ue & forw 3maca famar
3R YT 3TAGsT STAT fehdT

f33ir o AT 3T, SISt hT ATETTcehX hicl T ol STIXT el 15 AT
3R TFH & A1ETchR & folT 2 TaT, 1992 T a3 &l 315 27|
cifehet 10 STeTasl, 1992 i faeafacaTer i ar e fon f3aft i afa
HelasT AT 3T Beil AT AR AeTTeehR | Teg I fem I

(a) TFH &l T ST &

(b) TFH Tl & Yol T GINT g |

(C) UFH Tl T &N 18T § Fifeh faeafaerera o ey gt feam
AT B

(d) 3RIFd H & HIS 87|

18)Attempt to commit any offence is punishable with:-
(a) Half

(b) One fourth

(c) One third

(d) Full

of the term of imprisonment provided for the offence

18) Y 3Y 3TIRTET T et T AT ST g:-



IRTY & folT SR 1 3797 gere i g

19)Section 511, IPC is not related to the offence for which the
punishment is:

(a) Death sentences

(b) Life-imprisonment

(c) Imprisonment

(d) Both (b) and (c)

19) ¢IRT 511, TSURAT 3T 3TURTET F T oIg] ¢ Toldeh ol Holl 6
(a) FcT T Tl

(b )3‘|I01ICIO'I CARICIES

(C) SPRIATH
(d) ST (i)

3R ()

20)Section 511 the Indian Penal Code does not apply in case
of ?

(a) attempt of affray

(b) attempt of riot

(c) attempt of murder

(d) attempt of theft

20) TR &3 HiedT T 4T 511 e AT 3 AR 8T 8lciT?
(a) ST T Tced
(b) SeldT T 9 cod
(c) &cdT T 9
(d) TR T Tt

21)Section 511 of the Indian Penal Code applies to offences
punishable under the



Bl ?

22)Which of the following is a 'continuing offence’?

(a) Frequently taking a minor girl out of the custody of a lawful
guardian

(b) By force or deceit compelling a minor girl to be moved from
one city to another for illicit sex

(c) Removing a movable property from the possession of a thief
(d) Repeatedly raping a girl

22)fArATefd & & Sl a1 AR ol arelr 3R 82

(a) SR-IR Ry AT STt Sl hiefell TX&TH HI {THT F e
o STt

(b) TerET SATETTOIRT STSehl T STelydeh AT UG | 7 FleT HY o felw
Teh Y T gAY AT o STl & [T AT el

(c) TR & Theol H I HUN fAhrelar

(d) T ofShT & AT dR-TR SllcHdT el

23)'A' picks up a cheque on a banker signed by 'B', payable
to the bearer, but without any sum having been inserted in




the cheque. 'A’ fraudulently fills up the cheque by inserting
the sum of ten

thousand rupees. 'A' is guilty of: (a) criminal misappropriation
(b) fraud

(c) cheating

(d) forgery

23) ‘T " GART EATETRA dhY T Teh Ueh oIl &, oIl U I &I
I g, offchel Teh H ahls 1T STel ToAT| 'T" YRS A Uk H &8 T AT
STolohY A ST § 89X ¥9. 'T G g
a) MR giafargar
(b) spUC
(Cc) Bl
(d) FoeI=AT
24)Section 489A of IPC is related to:-
(a) Property mark
(b) Falsification of accounts
(c) Counterfeiting currency notes and bank notes
(d) Counterfeiting a mark used by a public servant

24)3TSUIAT el &IRT 489T T &:-

(a) Ui RgsT

(b) ©TAT T ALITRIOT

() HeT #Ale 3R deh Fle I FHeaol

(d) Teh ol A GEEIRY Wﬁwmﬁ%ﬂww

25)"Possession of forged or counterfeit currency notes of
bank notes" punishable under- us
(a) Section 489A



(b) Section 489B
(c) Section 489C
(d) Section 489D

25)” %I IT heehe FET AT AT deb ATET I ool H TG
HANA ST & ?

(a) gRT 489U

(b) &IRT 4894

(c) &IRT 4894T

(d) &RT 489381

26)Some provisions of the IPC have been amended by the ?
(a) Administrative Tribunals Act, 1985

(b) Arbitration and Reconciliation Act, 1996

(c) Information Technology Act, 2000
(d) None of the above

26)3MTSHIAT o $& FIaeTl H TN fhaeh SarT foham arm g2
(a )WWW@W@W 1985

(b) HETEYCT 3R Fole TATATH, 1996

(c) T ey rfafae, 2000

(d) IRIFT F q FIS AT

27)Under which Section of the Indian Penal Code, it is an
omission and not an act, which is an offence?

(a) Section 491
(b) Section 296



(c) Section 468
(d) Section 508

27)HRAT &3 Tigdr Fr ford &RT & 37T T o gl olT glalT
R 8?2

(a) &RT 491

(b) &IRT 296

(c) ¥R 468

(d) &TRT 508

28)A man by deceit caused a woman, not lawfully married to
him, to believe that she is lawfully married to him and to
cohabit with him in that behalf, is dealt under Section ...
Indian Penal Code, 1960. of the

(a) 497

(b) 495

(c) 494

(d) 493

28) Ueh J&N of €W @ Teh Higell 1, ST SHA Hlefeil ®9 4 faaried
T 8, W%&w%ﬂm%wmw@mﬁaﬁﬁ%msﬁ
TeeT 3 3 WY G & ToIv, AR &3 i, 1960 F1 €RT &
ded [Averr Srar g

(a) 497

(b)495
(c) 494
(d)493

29)A, a man, was legally married to B. They had two children
from the marriage. During the subsistence of the marriage. A



entered into a relationship with another woman,C. He then
proposed marriage to her, and they got married at a local
temple. C was not aware that A was already married. Which
of the following offences have been committed?

(a) A has committed the offence of bigamy

(b) A has committed the offence of adultery

(c) A has committed the offence of bigamy, and also the offence
of concealing his previous marriage from C

(d) A has not committed any offence.

29)T, Teh 3TGHY, o Shlefall dIX I &7 § ATEY 1 AT | AEY & 3 ar
g | %m%ﬁaﬁgé:a’m?r Aﬁmﬂm C & &1
Y FATAT| T 3TT 3Th TTH 2ATET T YT IW@T 31 3@ Teh
TATATT ATCT 7 ATET AT AT| C FT 3 ST T SATAPRT Al AT b A
TEol U ATEIRIET & | AT H & sl HT IR T 337 52
(a)trﬁaﬁﬁamasrmﬁm%

(b) T =Y ST T ITTRTET FohaT &

¢) U o gfafaare ot 3roRmey fRam g, 31X & & 379 faaelr Arer i
IBEIGEIRERCEIRC T R

(d) T o IS IR AT fhAT & |

30)The maximum punishment that can be granted for
commission of the offence of bigamy is:

(a) two years

(b) two years and fine

(c) seven years and fine

(d) ten years and fine

30) gfafadrg &1 ORI Tt IR IHTARTH HIT &1 ST Hehell B
a) ar |rel



(b) & el HR/AT SFATAT
(c) AT |TeT 3R/AT SATT
(d) & @Tel 3R/ STATAT

31)In which of the following offences criminal intention
(Mens-rea) is irrelevant?

(a) An offer to commit crime

(b) Food adulteration

(c) Bigamy

(d) Dacoity

31) At fad & & foha 3R # 3RS 370 (Hog-1dn)
39T g2

(a) 3TURT oA T YEATT

@ied yerdi # fAerae

32)Who are effected by Section 494 of IPC relating to the
crime of bigamy?

(a) Only male Hindus

(b) Male and female Hindus

(c) Male Muslims

(d) Male of all religions

32) gfafaarg & 39y & HaTAd 3MSUrAT hr &RT 494 & e
gIdd gld 87

(a) had I3V fag

(b) T 3 AT fiig,

(

c) TN HETHTST



(d) Tafr erAT & o

33)The supreme court of india decriminalized
adultery,striking down section 497 of the indian penal code
1860,in the case of ?

a)Nitin walia v/s union of india

b)Nandini sundar v/s state of chhattisgarh

c)Joseph shine v/s union of india

d)Fazal rab choudhary v/s state of bihar

33)ma:aafwwﬁa¢magﬂ%m1aeoaﬁrm497

I ¥GG adl gU T IIATR hl 379Ter hr Hofy T J1gT A g ?

a) e arferar s sRa &9

b)AfEeA HeX SATH S HIG T
)m%mwaﬁaamg%m

d)mwﬁaﬂwﬁww

34)In which of the following offences ‘Mens rea’' is not an
essential ingredient?

(a) Murder

(b) Theft

(c) Robbery

(d) Bigamy

3q)FAff@a & & 6 3Ry # 'Aew RAT U 39T geeh Anl
g?

(a) gcar

b

C
d

o~ o~ A~
N S N

IR
elc
AEIEELR



35)In an adultery the women is punishable as ?
(a) abettor

(b) Co-accused

(c) not punishable

(d) none of the above

35)cafiarR & Afgelr ol fohde G gl 672
(a) TSR

(b) TE-3TTAGFd

(c) &3 aﬁr

(d) 3RIFd H & HIS o161

36)Who may complain for '‘Bigamy' under Section 494, IPC?
(a) Mother, Father, Brother or Sister on behalf of wife

(b) Police

(c) Any social institute

(d) None of the above

36)3MMSUINIT ehl TIRT 494 & dgd 'giafadig’ & folv e fAIRId X
Hohdl 872

(a) Geail el 31X & AT, TIdT, H1S a1 987

(b) gferd

(c) 1S 3T FTATToTh TEATA

(d) 3RIeFd H H HIS g1

37)An offence of bigamy punishable under Section 494, IPC
was committed by A in Patna. The place where A resided
with his first wife B was ‘Gaya’and the place where his first
wife took up a permanent residence after the commission of



the offence is ‘Bhagalpur’ The offence may be inquired into
or tried by a court of competent jurisdiction at ?

(a) Patna

(b) Bhagalpur

(c) Gaya

(d) All of the above

37) MUY T YRT 494 & dgd 31 GiATddlg &l 3YTE T aRT
geoAT H TohaT 31T AT| I TUTT STgT T 3Tl Ugell Ucail af o AT
{6l &1 9 ‘AT oY 3R ag TATH STET 3T Igell Ucall of ITURTET
el oSG TR A STaT AT I5 ‘HETeqY §1 FaTH aTeeR
aTell 37eTelcl GaRT 3TURTEN T STrer AT Hehes] <TTT T Tehell £
(a)gcdr

(b)HTITETIR

(c)Irdr

(d)3uRIerd T

38)A Hindu husband converting to Islam and marrying again
will be guilty of bigamy. It was held in which of the following
case?

(a) Bahurao v. State of Maharashtra

(b) Dr. A.N. Mukheriji v. State

(c) Sarla Mudgal v. Union of India

(d) P.V. Venkatraman v. State

38)31N I feg Ulc SETH TT=ATe & i IERT ST AT & ol a8
cfafaarg &1 2T g1em| I8 [AFafalild | & fohd ATH H 3ASd
fopaT arar ar?

(a )qsud SolTH HAGRISE T
(b) =F, .U, G SA1H AT




(c) Ge quloi T IR 99
(d) dr.dr. ST ST T

39)A, a married man, commits consensual sexual intercourse
with an unmarried woman, without the consent of his wife. A
has committed ?

(a) Adultery

(b) Rape
(c) Bigamy
(d) No offence

39)T, Ueh fAaTfgd 92V, 319eiT Ucall ehl HEHTT o 19T, Ueh 3Tfadiiad
ﬂ%masmamﬁﬁuﬁamam%mﬁmﬁm%?
(a) STTATR

40) A (a 28 year old man) and B (a 27 year old woman) were
in a romantic relationship and were living together. After
being in a relationship for nearly three years, A asked B
whether they could have sexual intercourse. B said that she
would consent to sexual intercourse only if A agreed to
marry her. A promised to marry B, and thereafter they had
sexual intercourse multiple times over the next three years.
Subsequently, B discovered that A was not being faithful to
her and was in a relationship with another woman. She broke
off the relationship, and sought to initiate criminal
proceedings against A. Which of the following offences can
A be prosecuted for?



(a) Criminal breach of trust

(b) Adultery

(c) Cheating, if B is able to prove that A never had the intention of
marrying her.

(d) Custodial Rape

40) T (Tsh 28 YT @) 31X & (T 27 AN Afgeln) Teh AATTES
Rreey 7 21 3R T AT @ T | HTHIT et TNt T KLY 3 @
STe, T ol & YT foh 1 & HIHWT T Hehdl 8| ST o1 gl fob ag HHMT
& ToIT T3 FgATA &3 ST U 389 2ATET il o Tl HEHT glemm| T
o7 & ATET et T arer [haT 31T 39 &1 3791l disd as! & 3egid s
IR AT HAT| 5T 91, &Y &Y IaT Ielr foh T 38 9fa IhIeR Tgr
AT 3R FoRdlY 31T ATl & A1 Red H 47| 38«1 Rear dis &2, 3R
T o QT ORI RIATET E Fe hT AT | o= fei@d H
ﬁmm‘ﬂ%ﬁmvwwqm TATAT 1T bl &2

(a) 3RS ~IT -7

(b) ST

c) &, IT¢ & TE AT hlel H T&TH g Toh T T 399 QST el &l
el FTeT 6T AT

(d) fer e & Fereqar

41)'A’ and 'B' had been married for 10 years. 'A’ the husband
constantly physically abused his wife, 'B’. The injuries were
such that she needed medical treatment. On March 18, 2018,
‘A’ inflicted an injury on B's hand, which resulted in it being
fractured. In this context, which of the following statements
is accurate ?

(a) Section 498A of the Indian Penal Code can be invoked against
‘A

(b) Section 498A of the Indian Penal Code will not apply in this
case since there was no demand for dowry.




(c) Section 498A of the Indian Penal Code will not apply, since
this is an offence under the Protection of Women from Domestic
Violence Act.

(d) This is not a crime. It is ground for divorce under the relevant
personal law.

41)'T" 3 & T AT T 10 FTe &1 37T A T gfd o 319 Jeail o
T IR ARk NYT foham| ate Ut &t b 3¢ R™ifehcar 3gar
&I TaThdT 2AT| 18 AR, 2018 &T 'T' o &l & 1Y W Ale YgdTs,
TS 8T e a1 | 3 Fed &, AeATafd o & et a1 hdiel T
g7

(@) 'T & TEATH ARG &3 HigdT @l YRT 498U 1] I ST Hehell & |
(b) AR &3 HigelT 1 URT 498T SH HIHe H I3[ 6T BIei FAiieh
Ggof ohl SIS HIIT T8 AT

() AR &3 HigelT T URT 498T AL A& 19N, Fifh Ig B
e & AT hl FR&TT HTRTHIH o Teel Teb ORI &

(d) TE I I 61 & | T§ ITHTINh AT hlslel & gl Tolleh
I 3R &

42). Cognizance of an offence punishable under Chapter XX
of the Indian Penal Code shall be taken, ordinarily, by which
of the following persons?

(a) Aggrieved person

(b) A police officer

(c) A person interested in social work

(d) Any of the above

N N N S

42). FAIT &8 TigdT & 3T XX & Jgd a3 3TIRTE T HTeT
HHAIR R AFATATET A @ fvg caferd garT farar sreen?
(a) qifsa safaa



(b) Uk gferd 31Ty
(c) FTHTToTeh AT & 3T I aTell e ford
(d) 3RS 7 & Fis AT

43)Under section 198 of Cr.P.C the court can take cognizance
of any offence laid down under section 497 and 498 of the
IPC on the complaint of-

(a) husband of the woman

(b) father of the woman

(c) mother of the woman

(d) any of these

43)TTRARAT T ¢TRT 198 & g 3TGTeld JTSUTHT shl YRT 498 &
g@ﬁﬁtﬁﬁﬁﬁ@aﬁmwmﬁmﬁfa\mﬂaw@rm
(a) Afge &7 9id

(b) AfEeT & foar

(c) ATEeT &hr AT

(d) 318 @ IS off

44)Defamation is as?

(a) Immoral Act

(b) Unethical Behaviour by media

(c) Corrupt and indecent behaviour in public
(d) Civil wrong and criminal offence

44)ATAGTTS Tohd Jeh I Il 62

(a) 3=Tas F

(b) FTSAT GaRT HeATdh TagR

(c) HTaoTeleh ¥9 § #s¢ 3R 312N egagR



(d) Rafaer Irard 31T 3= 3r_Ter

45)On account of an agitation the lawyers ceased to
participate in court proceedings and resorted to 'Satyagrah
An editorial in a newspaper criticised as to whether it
behooves to the lawyers as a class to resort to strike. The
lawyers were inter-alia described as 'Kajia dalal’ i.e. dispute
broker, in the editorial:-

(a) Editor of the newspaper is guilty of offence of defamation
(b) Editor of the newspaper is not guilty of offence of
defamation

(c) Not only editor, but Chairman of Board of Directors and
its General Manager are also guilty of defamation

(d) None of the above

45) Uk 3TIeTeleT 3 ST Jehlcll &Y STl ShIIATeT 3 $19T Il i,
Y &7 3R "TcaTarg’ &1 GERT T | e RN 9T & guiehy H
3ITATIAT T 315 TR AT Ueh 3T o & H Jehlell ol 85Tl ol HERT
oIT 3T & TUTCHIT H Fehroil it 3T a1l o Tr-AT1e "Sierar
colTel" ITell fAdTE colTel o &9 H JToTd fohaT 1T -

(a) 3TWIR T HUTGeh HATAGI oh 3TIT T ST &

(b) IWIR T HUTGeh HATAGI o 3TIT T ST AT &

(c) T Fael TUGh, Sfeh s Hser & 31eUeT 3R 3TF AGTITUS
i AR S gre €

(d) 3TRFT & F IS o761

46)'A' in good faith says of a book published by ‘Z' that Z's
book is indecent, 'Z' must be a man of impure mind. Is this
defamation punishable under section 500 of IPC?

(a) Yes, because the opinion respects 'Z's character



(b) No, because it falls within one of the exceptions of Section 499
of IPC

(c) No, because it is slander

(d) No, because it has not been repeated

46)'T" 37 TaRATH # "SIS" SART FehIRI Teh JEcleh o TN H HEcl o
for 315 T g RMIAT E, ‘o mmﬁﬂma:ramﬁram
TR FaT A HEI ST T URT 500 & e G5 &2

(a) 8T, FAIH T 'S & IRT FT TFEATT Al &

(b) 7T, FAITeh T MSUEY hr &RT 499 & 379are) H § Teh & dTd
AT g

c) =T8T, Frilfeh g TGaTH &

d) TeT, FFilTeh S8 GIeXTAT A6l 31T &

47)Defamation can be:-

(a) only of a living person

(b) of a living as well as deceased person

(c) of an individual, a company, association or collection of
persons

(d) both (b) and (c)

A7) AT & Tehcll o:-

(a) hdel Ueh Silfdd cTFcd hl

(b) ST AR FT FTFT T

(c)ﬁhﬁ—aﬁ?cr YT, T IT Al o HIg hl
(d) @=T (&) 3R ()

48)What is not defamation?
(a) Publication of any imputation
(b) Imputation to a deceased person



(c) Imputation to a company
(d) Opinion regarding public conduct of a public servant

48) HATARTT FIT oTgl &2
(a )ﬁ%ﬁaﬁamtrasrqasr%m

49)The defence of mental disorder (infirmity) will be available
to a person, when that mental disorder was:-

(a) at the time of committing the act

(b) before committing the act

(c) after committing the act

(d) during trial

49)7hdT SATFT I AT [AhR (GeldT) § ST I 3T BT,
9 dg A8 [dPR gl:-
(a) PR P FAT
(b)am‘raﬂﬁﬁq@ﬁ
)
)

(C) T H & dIG,

(d) TETOT & e

50)A invited his friend B to his house for dinner. While there
were having dinner, B made certain unwanted comments
about the married sister of A. Frustrated A started abusing B
and also said that he is a womanizer and a cheat and has
misappropriated huge funds of his employer. B sued A for
defamation?

(a) A is liable as he made derogatory statements about B



(b) A is liable as he did not act as a good friend

(c) Ais not liable as he has not communicated these statements
to anybody except B

(d) A is not liable as he has made defamatory statements on
being provoked by B himself

50)T o7 3191 GIECT &l Sl 31Te] X UX I o Wl & folT ATATT
foham| o790 3 URHIST A g &, dr & of U ol [adifed dged o g H
% HATS [CTTOT hi| @R T o &l i el ST & AT ferr
3 TE off eT 3 a8 u*ﬂ%ﬂﬁl‘&fﬁ?iﬂ'@m%ﬁ?mﬁmﬁ
forgeraTT & SR &1eT T U fohaT &1 oY & T OX AT
HHCHT ST TohaT?

( a) U 3Gl & Fifeh 38aT ol oh IR H THToleleh ST [GU &
(b) T 3TRERIT § Fifh 3TeT Ueh 37T AT oh &T H FY A6l [hdT
(c) U 3TRGIT o7l & FiTch 3HeT SoT STl ol ST oh 3TeATdT [h &l Sl
o6l ST §

(d) T 3TRERT A&l & Fifeh 3 T &Y GaRT IHATT SATed GT

HAlAgI[dhRe 9I7 fcT &

51)A is magistrate is making report to superior officer about
B's character imputation made in good faith and for public
good. A commits:

(a) Offence under section 500, IPC

(b) Offence under section 501, IPC

(c) No offence as it is within exception under section 499

(d) Under section 504, |IPC

51) T AfSEC & & IRT GIVRIUOT & R F 37 [aearw iR SFaar
T #7elTs & forw aiiss TRy & RUIE & W@ 81 T gfdecy §:
a) SYIAT T &IRT 500 & dgd TR



(b) ITSUTHT S °RT 501 & dgd 9T
(C) IS 3TIRTY AGT Fifoh Tg URT 499 & dgd 39dIE & 37dId &
(d) ST Fr T 504 & T

52)Which one of the following statements is not defamatory?
(a) 'A' says about a woman 'B' that she has paramour wherever
she goes

(b) 'A' publishes a photograph with a false caption '‘Goonda'’

(c) 'A' says, "I am not surprised that 'B's book is foolish for he is a
libertine"

(d) ‘A’ in the course of a police investigation says, 'B' may be
involved in the murder of 'D' because both of them were bitter
enemies

52)f AT T H & Sl AT FUT ATTEIAPRSb Tl &2

(a) 'T" Teh ATEeT &l oh SR H gl & Toh dg oIl HI STl & 3Rl T
gl &

(b) 'T & el MY 'I[ST & T Teh TEAR TR hT

(c) UW%"H@N@@H@W%%&T@WW%W‘%
9% T TadFaErer &

(d) GFerH ST & ST T el g, ‘s ‘ST T ge2T H ATTAST gl Hehell
%«T&’fﬁ?éﬁﬂ‘f*cc& RAA

53)How many exceptions have been provided for the offence
of defamation under Section 499 of the Indian Penal Code?

(a
(b
(c
(d

)4
)10
)
)

©o O -



53)TRAIT &8 FiedT S ¥RT 499 & TEd HITTTeT & U & fow
fehctsl 319aTE Yere fehu aru g2

(a) 4

(b)10
(c)6
(d)9
54)'A’ threatens to publish statements concerning ‘B’ Which
would be punishable under Chapter XXI of the Indian Penal
Code, 1860. 'B' files a suit for injunction praying for
restraining 'A’' from publishing the Statement:-

(a) Court may grant injunction even though it shown that it is not
injurious to B's property

(b) Court may refuse injunction as publication is not injurious to
B's property

(c) Court may dismiss the suit as plaintiff has not claimed
declaration.

d) Court may dismiss the suit as no cause of action has arisen

54) 'T 'S § T STl ThITRAT hial ohl eI &l § oIl AR
&g TfgdT, 1860 o 31T XXI & dgd &3 gan| ‘s favemam &
forT Teh HheAT SRR T 8 3R T ol §TeT TehITRIT el & Jehol
T 9T AT & -

(a) =TT [ANYTAT & Tl &, ol &1 T TSWrAT 13T 81 foh Ig &
& G & TIT gIieiehReh 78T &

(b) ITATTT TANYTAT & SoThR hY Hehcll & FATTeh TehTeleT §T chl
gufa & fov gifdeRs 78T &

(c) 3T HehcH I WIRST T Hehcll & FIH AT 1 HTYOTT T STaT
ool feraT Bl




(d) 3TeTelcl HeheH oY TWIRST Y Hehcll § Flfeh SHRATS I IS HROT
Waﬁrgm%

55). Offence of defamation relates to harming ?
(a) association of a person

(b) property of a person

(c) family of a person

(d) the reputation of a person

55). HIeTgTiel ST IR g1 Tgatel & HIOT &
(a) TRt cafFd 1 Tg

O ESIEIEGEIREIG]
OAEIEIEGEIRIEGIFS

(d) fopdY sgfaFrd hr Tarfa

Q

Q

Q

Q

56)Cognizance of offence of defamation under Chapter XXI of
IPC can be taken:

(a) on a police report

(b) on a complaint made by an aggrieved person

(c) suo motu

(d) all of the above

56)3MSHIT o 31EATT XXI & dgd HTIgIel ah 319 ST AT folaT
ST Hhl &

(a) U gferd REle
(b)ﬁ%ﬁrtﬂﬁ,a—qiv?craama?rméﬁmaw

(c) TIUROT &

) ERNEGE;E

57)Which of the following is defamation ?



(a) X says, "Y is an honest man, he never stole Z's watch,"
intending to cause it to be believed that Y did steal Z's watch.
(b) X is asked, who stole Z's watch? X points to Y.

(c) X draws a picture of Y running away with Z's watch.

(d) All of the above.

57T @a & | Sl AR &2

(a) THT hgdl &, "dTs Teh SHIIGR JIGH! g, 31 hHl A8 hl T3
el TS," e ey feelal o SU¢ & foh 1S o oS ol bsT TS ¢
(b)wﬂww%a—gﬁa@rﬁmﬁm@x Y &1 3R SR
AT ¢

(c) T, a-s'a?ra?é‘r%m%:aqmgtraléaﬁraw?@w%l

(D) 3Gk TATI

58)The following are defamation: exceptions to?
(a) Imputation of Truth for Public Good

(b) Public conduct of Public Servants

(c) Literary criticism

(d) All of the above

58) el i A8l 6: 3G ?

(a) FTASITeTeh HATS b [T T T YTdUTGeT
(b) ek TdhT T HTdoTTeTeh TAIOT

(c) ATfgTcTeh 3Telidalr

(D) 3GV TAT

59)Which of the following case upheld the constitutionality of
Section 499 & 500 of the Indian Penal Code?

(a) Subramanian Swamy v. Union of India, Ministry of Law & Ors.
2016 (2) MLJ (Crl) 542



(b) Jacob Mathew v. State of Punjab & Anr., (2005) 6 SCC 1
(c) Brij Bhushan v. State of Delhi, AIR 1952 SC 329
(d) Manoj Narula v. Union of India, (2014) 9 SCC 1

59)ArATo@a F ¥ forg A & YR &3 Tfgar ST &RT 499 3
500 hr Tt foIehdTl Sl SR IWT?

(a) GIFHUIH FATHT ATH R HE, Flele] HATAT 3R 37| 2016
(2) THUSS (HIIRT) 542

(b) Sterdl FLY FATH YoiTd s 3R 317, (2005) 6 THETT 1

(C) T $1NVT §ATH f&eoll T, TINMSHR 1952 THHT 329

(d) FAIST &Il dAT HRA T, (2014) 9 THHRAT 1

60)Under Indian Penal Code, which of the following amounts
to defamation ?

(a) To convey a caution intended for good of person, to whom
conveyed or for public good

(b) To make an imputation concerning a company or an
association or collection of persons as such

(c) Censure passed in good faith by person having lawful
authority over others

(d) Publication of reports of proceedings of court

60)RJIT &3 Tfgar & dgd, Reafof@a & @ ia Aag &y Soft
H 3T 872

(a) TRET STTFT T TS & oI IT A Teleh TS & Tl ThAT
AdTdaiT Sl TUTT HLaAT

(b) foreY U=t 1 THIfATLT IT AfFAAT & TIg § T 3IRT
ST

(C) GE 9N A PN T dTel T GART HEHTAATIdeh TR
IGEA



(d) 37Tl T FIIaATE! I RUIE FT TehrerT

61)'A’ for the purpose of inducing 'B' to desist from
prosecuting a civil suit, threatens to burn 'B's house. What
offence was committed by ‘A’ is guilty of?

(a) Abetment

(b) Criminal assault

(c) Criminal force

(d) Criminal intimidation

61) ‘T, ‘o' I AT Hhe AT T & Uehad o TIT IR A
3T 4, A" & B ) SToTTeT BT THRT &l | T oF PleT FT AR
RpaT ¥ v andY £2

62)An offence of criminal intimidation ?
(a) assault

(b) criminal force
(c) affray

(d) threat

62)3TIRI &S THATH o IR H AMTAAT 62
(a) gHeT

(b) amrﬁmasr
(c) &am
(d) erFehr



63)Intentional insult with intent to provoke breach of the
peace, is punishable under:-

(a) Section 508, IPC

(b) Section 507, IPC

(c) Section 503, IPC

(d) Section 504, IPC

63) Sl AT 79T FTl I ThITUT hiad o JTRT I HIAT 3T
S8 dIgd &3l g:-
a) &RT 508, TSUTHY
b) &RT 507, 3TSUAT
(c) &TRT 503, 3TSUrEr
(d) &RT 504, 3TSUIHY

64)Mrs. 'R’ lodges a first information report at Police Station
with assertion that Mr. 'X' by sending her vulgar message
either by forwarding emails or through Short Messaging
Service (SMS) intrudes upon her privacy. For what offence,
the case may be registered against Mr. ‘X'?

(a) Section 509 of Indian Penal Code and 66A of the Information
Technology Act, 2000

(b) Section 66A of the Information Technology Act, 2000

(c) Section 509 of Indian Penal Code and 66E of the Information
Technology Act, 2000

(d) None of the above

64) A, 3R o Yol FEAT H Teh TUH FeA1 R &l 418 &
Torgret aTaT foar 1T & R A Wﬁﬁéﬁﬁmﬁaq«*mmu




T [T (THUHTYH) & ATETH I 31l T Aoty 3T
MIATTTT H gedaiy forar §1 fATex "o & [ fohd 37 &
T ATHSIT go1 THaT ST GohdT §72

(a) AR &3 Figar T 4R 509 3R Faar dieaifahr sifafaas,
2000 3T €T 66T

b) T+ SeNTErhr 31fRfeeT, 2000 # &R 66T

(c) AR &3 |fgaT I gRT 509 31X Faelr FeARhT s,
2000 &I YRT 665

(d) 3TRFT H H IS oTg1

65)Misconduct in public by a drunken person is ?
(a) Public mischief

(b) Annoyance

(c) Intentional insult

(d) All of the above

65)# AT GART clleh TUTel H IR ?
(a) Fﬂé\_ﬂﬁ??{fﬁd

(b) SSTelTec

(C) TEIM AT

(d) ORI T

66)The Minimum Duration Of imprisonment provided for an
offence under the Indian Penal Code is imprisonment for?
(a) Twenty four hours under Section 511

(b) Twenty four hours under Section 510

(c) Sentence of 20 hours under Section 510



(d) Sentence of imprisonment till rising of the court under Section
511

66)TRCi &3 g & et Tohdll TR & foIT HRTETH 6T oA H
39Ty fohdsir g2

(a) IRT 511 & dgd &g €¢

(b) &TRT 510 o dgd dleg 8¢

(c) TRT 510 & dgd 20 ©¢ hr ot

(d) ¢TRT 511 & d&d 31ETeld 36 deh hRIATH hl TSl

67). Section 498A of the Indian Penal Code, 1860 came into
force from

(a) 25th December, 1983

(b) 26th December, 1986

(c) 25th December, 1987

(d) 25th December, 1988

67) AR &3 Afgdr, 18606ﬁr%rm498trmg§
a) 25 f¢He, 1983
)26%14‘«1? 1986

c) 25 f¢HeR, 1987

(d) 25 f&HsY, 1988

68)The punishment for the harassment of the woman by her
husband or any of his relatives with a view to coercing her or
any person related to her for dowry is imprisonment for a
term which may extend upto ?

(a) One year

(b) Two years

(c) Three years

(d) Five years



GS)Wmﬁmﬁmmmﬁﬁmmméﬁﬁw
HOTSX il & 36T A IHAT 3cdiSe sl T HRIAMH ! Hall
Rrcralt &) Fahal £2

69)Which Section of Indian Penal Code defines 'cruelty'?
(a) Section 304B

(b) Section 356

(c) Section 376A

(d) Section 498A

69)STREiI &3 Hfa I et T 4RT FRaAT T AR Tt 72
(a) RT 3044

(b) &IRT 356

(c) YT 3767

(d) 9T 498T

70)Cognizance of offence under Section 498A of IPC can be
taken by a Court ?

(a) on a police report

(b) on the complaint of the person aggrieved

(c) on the complaint of father/mother of the person aggrieved
(d) all the above



70)3MSHTHT hr YRT 498U & dgd 3TURTE T HaAlel +ITITT AN
o ST Aehdr 82

(a) T gferd RAIE &)X

(b) Rifsa cafaa &1 freprag

(c) Rif3a cafera & Tan/ATdr T fRsad )

(d) 3URIeFd Gy

1) In how many ways can abstract nouns be formed?

(d) 6

1) HTadTdeh HAT HT [HATIT fohdal ThR & fohdT ST vl 62

2) Nouns denoting emotion are not formed?

(a) Caste noun



(b) pronoun
(c) action
(d) factor

2) T ardeh HAT T fAHIOT SIET 81T &2

GNERL

(&) PR

3) Tell the difference between the noun word ‘army’ -
(a) caste-related

(B). collective noun

(c) emotional

(d) none of these

3) ‘DT H AT Qe FT A TATSU-



(H) HATddrdeh

(&) $TH | IS Tl

4) In which sentence is relative pronoun used?
(A) It seems that | have met him.

(b) Ram's mother is coming.

(c) He who wakes up will be able to sleep.

(d) My paper is tomorrow.

4) FFSY AT TAATH T JATT v AT H 3§ 2
(37) U1 9T & H 3 AT TG |

(@) TAFT AT 8

() ST ST G 9Tea |

(&) AT IR FeT ¢ |

5) In which sentence has the middle man been used?



(a) You fell ilI?

(b) I will go myself

(c) heislill

(d) She left.

5) mwwwmﬁmmﬁgm%?
(37) 319 IAR &1 1T A?

(&) & 39 eIl SATHaT

() 98 STAR §

(&) T Tl TS|

6) In which sentence is the reflexive pronoun used?
(a) you sit here

(b) He will go himself

(c) you don't listen to me

(d) he will come

e)ﬁmmwmmmﬁgm%?



(371) 319 TgT sfow

() I 3179 &I eIl ST

(F) 3T FL §1d T8T Al
() 9g 31T SITeam

7) 'Hot'

(a) to heat

(b) hotness

(c) heat

(d) warmth

7) "R



(a) to tell
(b) to tell
(c) to talk

(d) all these

(&) ST
CHEIGRIGH
&) T g

9) 'The housewife gave clothes to the poor.' What is the
causative factor in the sentence?

(a) doer
(b) Sampradan
(c) Karma

(D) krn



9) gl &1 IRIST T FU3 fET|" ATFT H HlTHT FRH &2

(H) HH
() FOT

10) 'The monkey shows the dance.' What is the causative
factor in the sentence?

(a) doer

(b) Sampradan-
(c) Karma

(D) krn

10) "o AT [CHTAT §1' a9 H HiTaT b g ?



(G) 0T

11) 'Mohan cuts the fruit with a knife.' What is the causative
factor in the sentence?

(a) doer
(b) Apadan
(c) Karma

(D) krn

11) 'HIgsT TTh A Bl HIcdl ¢ 1" ATFT H A DR 572
(37) el

(&) 391t

(F) A

(&) T

12) Refugee

(a) long treaty

(b) guna sandhi

(c) growth spurt



(d) Yana Sandhi
12) eROTT

(31) &y |

() IqoT |

(&) gefar |fer
(&) IoT Gfex

13) Narindu
(a) long treaty
(b) guna sandhi
(c) growth spurt

(d) Yana Sandhi

13) ARl
(37) e ey

() IoT /Y



(@) gefar |fer
(&) FuT HfY

14) Righteousness
(a) conflict

(b) Dvigu

(c) Tatpurusha
(d) Avyayibhava
14) TTHTIH

(31) e

(&) &fa

(&) TcgRY

(@) FcTAHATT
15) repeatedly

(a) Tatpurusha

(b) conflict



(c) Avyayibhava
(d) polygamous

15) SRFER

(37) TCTES



RJS TEST NO.8
FILL IN THE BLANKS WITH APPROPRIATE GRAMMAR
1.whenever you........ him .he ........ tears.
A.scolds,sheds
B.scold ,shed
C.scold,sheds
D.are scolding ,is shedding
Answer c
2. The delectable soup ...... well. I am in soup/in pickle.
A .taste
B.tastes
C.is tasting
D.was tasting
Answer b

3.he........... five minutes ago from his wonky house to lunge at

A. is stepping out

B .steps out



C.stepped out

D.step out

Answer c

4.Ashok fell off the ladder when he ........ the roof in searing sun.
A.is mending

B.was mending

C.had been mending

D.has been mending

Answer b

LN I something burning adjacent a grandeur restaurant at
dusk .

A.smell

B.am smelling
C.was smelling
D.smells
Answer a

6.we......... our sumptuous breakfast an hour ago due to keen
appetite .

A.will have finished
B.have finished



C.had finished

D finished

Answer d

7.Abdul.......... to be ........ eminent doctor due to his freak /mania .
A.wants,an

B.is wanting ,an

C.want,a

D.wants,a

Answer a

8.he .......... didactic movies on....... television most evening.
A.watch,the

B.watches,zero article

C.is watching,the

D.watched,a

Answer b

Qi ceveennnen. for half an hour under a Titanic tree when it suddenly
started raining.

A.have been napping
B.was napping

C.am napping



D.had been napping
Answer a

10.When Dia got the call,she .......... in her magnificent office with
her colleagues from dawn to dusk .

A.work

B.is working

C.was working

D.will be working

Answer c

Write meaning of following phrases
11.live in clover

A.lead comfortable life
B.lead luxurious life

C.lead difficult life

D.lead painful life

Answer b

12.put on pedestal

A.put somebody in threat
B.put somebody in confusion

C.put somebody in difficulty



D.nurture somebody with love and affection
Answer d

13.sore of somebody 's eye
A.enemy of somebody

B.jealous neighbour of somebody
C.powerful politicians
D.extremely lovable person
Answer a

14. Neck to neck competition
A.easy competition

B.higher price of commodities
C.stiff competition

D.competition for regime.

Answer c

15.pay through the nose

A.pay low price

B.pay high price

C.pay after count nose

D.pay after bargaining

Answer b






